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Are there many ways to abide by disciplinary fiscal rules?





In the last years of the reign of Louis XVI, the then finance ministers always rejected in a very modern (or post-modern) way the most necessary expenditures by invoking the absolute scarcity of funds to spend. In the early years of the 21st century, finance ministers of the richest nations always reject the most necessary expenditures by telling the people that "the State is short of funds" and they are in the same desperate situation than Louis XVI. Orthodox experts do not seem to be worried by the obvious fact that there are some differences between France in the years preceding the Revolution and 21st-century America, Europe, Japan and their likes. The "there is not enough money to spend" slogan relies on the so-called "budget constraint":





The State, whatever the underlying mode of production, has to adjust its expenditures to the predetermined fund which is equal to taxes plus liabilities sold to private savers and the Central Bank. By issuing liabilities the State runs a "deficit" which is financed by the absorption of a share of already existing saving and/or by money creation.





Herein lies the existence condition of disciplinary economics. There could be a first way to fiscal policy relying on unchecked "deficits". It is deemed today "the Keynesian way" while it was never recommended by Keynes himself, who by the ways never explicitly doubted the Budget Constraint.





It is now anathema to orthodox economists (and many heterodox economists alike as long as they do not doubted the State Budget Constraint) because it would require either an increasing shortage of "ex ante saving" for the private sector (taking care of the very dubious existence in the long run of strong enough Barro effect) and/or an excessive creation of money leading to inflation. Whatever the nature of expenditures, the "deficit" cannot have a net positive impact on the private sector; its net impact is negative, which explains the Commandments of the ruling fiscal orthodoxy.





I	The State must never plan a deficit.





II	The State must never accept a deficit resulting from a slump generating lower than planned tax revenue and/or higher than planned outlays. It has to cancel the deficit by raising taxes and/or slashing outlays.





Commandments I and II are the mild disciplinary regime. There exists now a tougher regime enshrined into a third commandment:





III	The State must plan a gross surplus by saving a share of its tax revenue to increase the ex ante saving fund as if we were in some fantasy corn Hobbit-like economy.





And a more tougher regime, the ultimate one enshrined into the fourth commandment:





IV	The State must allocate a share of the "gross surplus" to the repayment of its debt.





A widespread belief of the so-called modern (or post-modern) "left" is that there are two ways in fiscal policy of abiding for the disciplinary regime.





The second way (the Conservative way) requiring a long-run fall in State outlays to attain some "minimal" State.





The third way (the Progressist or "Compassionate Disciplinary" regime) consisting in simultaneously raising expenditures and taxes. The "first tax next spend" policy could abide by the four commandments while meeting some commitment to social progress and growth.





In the Third Way, monetary policy could help by planning low and stable rates of interest (relative to growth in real terms) which shrinks the debt burden imposed by the third commandment while compensating for the non-existence of fiscal stimulus for private animal spirits. Such a tradeoff between a disciplinary fiscal regime and a rewarding monetary policy is the last-resort solution of the so-called "New Left" politicians and heterodox economists alike rejecting the second way and indeed the first one.








These three ways of fiscal policy ignore modern money





Sharing the belief in the Budget Constraint, they start from the same origin:





The modern State has no more monetary power than the last king of Ancien Rιgime France. It cannot create money to undertake its expenditures.





Louis XVI has not the least monetary power. For a long time the French kings had lost any control over money, which had been de facto privatized. The king had to abide by a dramatic budget constraint from which the only escape was borrowing to foreign banks at usury rates. One should know that the modern State since the inception of the capitalist mode of production is a monetary State whose existence condition is the control over the currency used as money. It is the State that determines the currency and therefore the unit of account by requiring that liabilities to the State (and all other liabilities) must be discharged by payments in that very currency.





The State has therefore the power to create units of its currency (money) by undertaking its expenditures. It cannot wait for taxes to spend no more than firms can wait for receipts to spend. The counterpart of the amount of money created by expenditures is the tax liabilities imposed on the private sector. The collection of taxes destroys money and liabilities–like firms repayment to banks destroys an equal amount of money and liabilities. No budget constraint exists in a genuine monetary economy. Herein is the sole way of understanding the true relationships between the State and the private sector.





First, the so-called "deficit" accounts for the net surplus (saving) of the private sector. A "surplus" is nothing but the net deficit (negative net saving) of the private sector. One should therefore stop using the term "deficit" or applying it to the sole State. Since the outstanding empirical work of Eisner (1994), one should know that the State "deficit" also accounts for the State net investment, including non-tangible investment. Who would blame firms for not entirely financing their investment by profits generated by their receipts? They have to run a "deficit" to make desired saving.





Second, the "deficit" has not to be financed; what only matters is that it is reflected by an equal increase in banks reserves providing no yield. Its counterpart is an equal fall in firms new issue of liabilities to banks because of their increased profits. The State issues bonds to absorb all (or a share of) banks excess reserves. What determines both the amount of new public debt and the role of interest it provides is the State long-run policy relative to banks profits. As a pure book-keeping operation the share of the "deficit" which is not absorbed by bonds sale is absorbed by the fictitious sale of bonds to the Central Bank. It is the so-called "monetary" component of the budget constraint. Since this operation had been forbidden in the early stage of the disciplinary regime (as soon as the early 1950s or 1960s according to the countries efforts to impose the new regime) the State became committed to a full compensation of banks.





The next logical stage was to provide banks with rates of interest high enough to raise their profits while removing the threat of inflation, which cancelled the possibility of an interest-induced wealth effect. The restoration of rentier capitalism was the great achievement of the late 1970s and early 1980s. Bestowing independence on Central Banks by turning them again into their role of Executive Committee of the rentier capitalism followed. What remained to go back to the time of Louis XVI was to deprive the State of its monetary power. Herein is the deep "wisdom" of the European Monetary Union. Since it is impossible to restore the agrarian non-capitalist mode of production, when the State surrenders its monetary power it has to rely on the money creation of private banks for all its expenditures. It could become more dependent than Louis XVI!





A very few (or none) supporters of the Third Way understand these two crucial relationships or, for the most enlightened, they confuse the State monetary power with the restoration of the Central Bank "absorption" of the new debt. What is also missing is an accurate understanding of the prohibition. It has nothing to do with "monetarism" (whoever cared for it outside the isolated realm of professional economists?) but with the role of financial capitalism.











The Third Way to the disciplinary regime cannot be sustained





The State only abides by the first and second commandments planning to raise expenditures and taxes at the same rate of growth high enough to meet its commitments relative to health, education, research, infrastructure, defense and so forth. The outstanding public debt is constant while its yield is adjusted to the desired accumulation of liabilities. Monetary policy is effective as long as it allows banks to charge their required rate of interest, taking care of their obsessive concern with inflation that is reflected by the strong desire to maintain a stable price of output (Parguez, 2003).





Let us assume, which is the most suitable case, that wage-earners do not save–being deaf to the propaganda for thriftiness depicting a dire future of "no money for pensions, education,…". Under those assumptions, let us consider two cases relative to the relationship between private investment and the growth of State outlays:





Investment is fully exogenous relative to State outlays.





What determines investment for individual firms as capitalists is their wagers on a far and unknowable future. Their outcome for capitalists as a whole (the so-called "aggregate investment") determines the share of output transformed into capital by specific expenditures reflecting an equal creation of money. Firms profit (net accumulation) is equal to investment minus net liabilities or deficit (positive, negative or nil) incurred to close the monetary circuit or value cycle. They are equal to the State "deficit" (or exogenous contribution to profit) minus, under our assumptions, interest income paid to banks.





Since the State "deficit" is always zero, firms deficit is equal to banks own profit reflecting the share of the value created by firms transferred to banks as financial capitalists through the rate of interest. Just to maintain the desired growth of banks net wealth, this share z–and therefore the rate of interest–has to grow as soon as the State "deficit" starts to fall, converging on its zero long-run level.





Banks impose a minimum rate of return r* on firms wage-bill which is therefore equal, π being profit, W the wage-bill, I investment,





[1]		W = π / r* = I (1 – z) / r*





While the money wage rate is always adjusted by firms to its normal level w allowing them, for a given labor productivity a, to maintain the price target p* meeting banks as financial capitalists (and therefore the Central Bank) desire for the stability of assets value (Parguez, 2003) so that, b being the ratio of interest costs to labor which only depends on the rate of interest and the required rate of return (op. cit.):





[2]		w = a p* / (1 + r* + b)





From [1] and [2] stem the main characteristics of this disciplinary regime.





First the growth of State expenditures has no impact on the private wage-bill. Assuming that it has no impact on labor productivity, having no impact on wagers determining investment, it does not affect the wage rate. It is therefore perfectly neutral relative to employment and aggregate output of commodities.





Second if there is a long-run rate in growth of investment, investment being full exogenous relative to State expenditures in the context of absolute unknowability of the future, its rate of growth is to be always very low relative to the very high rate in growth of State expenditures. Whatever could be the fluctuations of r* and i, private labor income always grow at a rate ruled by the rate of growth in private investment. Taxes growing at the same rate than State expenditures, there must be a long-rise in the tax rate on labor income.





When State outlays rise relative to the wage-bill, the tax revenue generated by income paid by the State is not enough because it is just a share of the required rise in taxes. The tax squeeze of labor is not compensated by the rise in tax rate on banks profits because banks are to react (with full support of the Central Bank) by a higher rate of interest raising z and b. It leads to a drop in both W and w, which requires an increased taxation of labor: were the State strive to raise the tax on gross profits, net profits in [1] fall, which imposes a fall in W and again a higher taxation of labor. Herein is the full proof of what must be deemed the fundamental tax theorem:





In a genuine monetary economy, the whole burden of taxation is ultimately borne by labor (including labor hired by the State).





Third, from this theorem, one derives the proof of the non-neutrality of the Third Way. It leads to the long-run fall in labor net income which is reflected by an equal fall in the share of output absorbed by consumption. The rise in the tax rate on labor generates a long-run fall in the "effective real wage rate" accounting for the purchasing power of labor, while both the price of output and the money wage rate remain constant.





Herein lie the deep roots of the instability of the disciplinary regime. Sooner or later the labor force is to react to the "tax" exploitation by requiring a rise in the money wage rate. 





Either the inflation barrier is removed allowing for a rise in the rate of return, but banks (again with full support of the Central Bank) react by a rise in the rate of interest–raising the z and b factors. The wage-bill is to fall (induced tax shortage requiring more taxation) while there must be a fall in the rate of return if there is not again a rise in the price of output met by a new interest rate alike. The outcome is more taxation anew generating more compensating money wage rate hikes. Such a cumulative process is to lead to a collapse of the supporting structures of wagers reflected by the drop in the rate of growth in investment–imposing a fall in the wage-bill, more tax shortage, more taxation of labor,…





Or the inflation barrier holds. Henceforth there is a fall in the rate of return below its required level. Firms are to react by a wage-bill adjustment imposing more taxation of labor and labor is to respond by requiring a new wage hike until unemployment becomes so high that labor ha no more enough possibility to organize and resist tax exploitation. It is the time when, because of the collapse of consumption, the rate in utilization of capital collapses–which is reflected by a dramatic reversal of wagers on the future leading to a strong fall in the rate of growth of investment that could become nil or negative. The wage-bill adjustment increases the tax shortage that is met by an increased taxation compounding the drop in the rate of utilization and the cumulative process is to accelerate until the State disobeys the commandments.





State expenditures have a positive impact on investment through the technology drive





The growth of State expenditures has a positive impact if and only if channels to individual capitalists the vision of a much more optimistic future providing them with so much rewards that they have now to increase their wagers on the future. As rightly shown by Bellais (2003), through the growth of its expenditures, the State removes the barrier of time, the unknowability constraint by leading individual capitalists to be certain of being rewarded by increased productivity and increased profits if they raise their investment. Both effects are the outcome of past State investment in research on new technologies that, in some far future, could be a source of bounties for the private sector.





What is crucial is that the State is the only one actor in the capitalist mode of production providing this technology drive, because it is free of any kind of profits motive and therefore able to spend for a long time on research without any positive outcome. The State revels in ignoring the time barrier contrary to individual capitalists striving to be protected against the consequences of unknowability.





As soon as the growth of investment starts to accelerate labor grows which generates the tax revenue matching the rise in ongoing State expenditures. The tax squeeze of labor is prevented and therefore there is no more the threat of a tax-induced cumulative process. As soon as the new technology is embodied into capital, the rise in productivity allows a rise in the wage rate fitting the inflation barrier while compensating labor for the past collapse of the effective real wage, which prevents a rise in the rate of return that would weaken the growth of labor income.





Past growth of State investment in research had to be matched by an equal growth of taxes. Nothing prevented the tax-induced cumulative process during the research time, which could have so much decrease capitalists ability to take wagers on the future that the technology drive would be dampened too much to generate a strong growth of the wage-bill.





Assuming that past commitment to commandments I and II does not dampen the growth of labor income, tax revenue is poised to become greater than State expenditures if the State does not cut taxation.





Excess taxation revenue generates a "surplus" reflected by the fall in profits, which automatically imposes a compensating drop in the wage-bill requiring more taxation. If the State is truly committed to the disciplinary regime, it must revel in "surplus" because at last it enjoys the opportunity to abide by the commandment III (possibly to the commandment IV) and therefore it must freeze taxation to protect the cherished "surplus".





Herein is the proof that the "Bellais effect" is inconsistent with the disciplinary regime, which is the ultimate proof of the full unsustainability of the Third Way regime.


�



The second or conservative way is the sole way to the disciplinary regime and its impact is worse





To remove the threat of the tax squeeze effect, the State plans a long-run fall into its expenditures. It requires the nonexistence of daring long-run research programs, which prevents the technology-drive investment. Private wagers on the future are henceforth doomed to be more and more short run and thriftiness or speculation-driven. Investment is to fall in the long-run, which imposes a drop in labor income generating tax-revenue shortage, because there is to be some rigidity in State expenditures which are falling at a slower pace than investment. The Conservative way cannot escape from the tax-squeeze effect whatever the State commitment to its "minimal" Agenda.





Striving to attain this long-run "quasi-Ancien Rιgime" state, the second way imposes a dramatic rationing of public goods on the labor force in terms of health, education, transports, social benefits of all kinds, etc. It is reflected by a fall on labor productivity and a compensating effort to save–generating an augmented drop in profits. Endeavoring to protect their accumulation, banks (as always supported by the Central Bank) are to react by raising both the rate of interest and the required rate of return.





The conservative way is therefore the way to a cumulative process destroying the very fabric of the mode of production.





In guise of conclusion, any responsible and sensible as well politician must reject as absolute anathema the disciplinary commandments. One must never care for the "deficit" but for some mystical fear without any scientific foundation. What only matters–abolishing the ultimate source of scarcity: the sheer anguish of individual capitalists relative to the future (as shown in Parguez, 2002)–is to provide society the public expenditures it needs to overcome the time barrier and attain full employment while preventing the crowding-out of consumption.





Because of the strength of the tax-squeeze feedback effect of the growth in State outlays, the responsible State must pledge to a long-run decrease of taxation. Herein is the existence condition of the long-run technology drive of capitalism.
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